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QUESTION 1

Which of the following describes BGP route processing on the Alcatel-Lucent 7750 SR?

A. If no import policy is specified, all valid BGP routes are passed to the BGP route selection process.
B. If no export policy is specified, all non-BGP routes are populated into RIB-Out.

C. If no import policy is specified, all BGP routes are populated into the route table.

D. If no import policy is specified, only valid BGP routes are populated into RIB-Out.

Correct Answer: A

QUESTION 2

An Alcatel-Lucent 7750 SR receives a route from an eBGP peer with a MED value of 500.
What MED value is sent to iBGP peers?

A. 100

B. The IGP cost

C. 500

D. None

Correct Answer: C

QUESTION 3

Click the exhibit.
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Considering that both routers C and D are advertising the eBGP learned prefix 10.5.0.0/16 into ISP X, which of the
following best describes the route advertisement within ISP X?

A. Router C sends the update to routers E and F only.

B. Router C sends the update to routers D, E and F.

C. Router C sends the update to routers A, B, E and F.

D. Router C sends the update to routers A, B, D, E and F.

Correct Answer: D

QUESTION 4
Which of the following is the minimum requirement for an AS to be considered multi- homed?
A. A single connection to a single service provider.

B. Two connections to a single service provider.
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C. Two connections to two different service providers.
D. Multiple connections to different service providers.

Correct Answer: B

QUESTION 5

Which of the following prefix-lists is the most specific match for prefix 172.31.2.1/24?
A. Prefix 172.16.0.0/12 longer.

B. Prefix 172.31.0.0/22 longer.

C. Prefix 172.31.0.0/23 longer.

D. Prefix 172.31.0.0/24 exact.

Correct Answer: B
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